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A=V IN)):

import pandas as pd
pandast\W 334735 eEZA5LHICT S

df = pd.read_csv('shakai.csv’)
I DI77AINEBDcsvI7AILEpandasTiAAD

df.head()
EEAFICBAINTWET —IDRIMDSHEERTTS



A=V IN)):

X =df[['#X"]]
X.head()
SHBATHELTIEZE 28R FEL. RMDOSHERTTS

y=df[['BEEK']]
y.head()
BRI LT iRIR, 2R EL. RDSHERTTS




A=V IN)):

from sklearn.linear_model import LinearRegression
model = LinearRegression()
BEREETIVEELASLIICTS

model.fit(X, y)
ZEXEHAZT . TRy ZBMZEHL T, B2 E1TS

print(model.intercept_, model.coef )
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A=V IN)):

X_yosoku = pd.DataFrame([[400]], columns = ['%%'])
model.predict(X_yosoku)
FEROEFMZ40040 LT, BIFXICH TII&H TERIREFR %
TFRlTS
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y = EOWII7800592 x 400 + 523.77740922
y = 454.57504 168 [%]
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X2=df[['Z%', B -BFE', KE-{25F",'HBuk - 13%']]
X2.head()
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y=df[['BE8&"]]
y.head()
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A=V IN)):

from sklearn.linear_model import LinearRegression
model2 = LinearRegression()
model2.fit(X2, y)

print(model2.intercept_, model2.coef )
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print(model2.intercept_, model2.coef_)
[612.39863457] : E¥CA (YkR)

[[-0.23689623 -0.54526488
-0 16213081 -0.10581234]]
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A=V IN)):

X2_yosoku = pd.DataFrame([[400, 70, 135, 40]],
columns = ['FX¥', 'RE - BZ', KB -{D5F",'Bok - 1R%E'])
model.predict(X2_yosoku)
FEZ4L4009 . BE - BFEZT0D . KE-{D5F¥%|35%.
Bk - 42T 402 L LT, BEIENICH TIX &) THEIREFRZ FRIT 5
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y = -0.237 X400 -0.545X70 -0.162X135
-0.106 X40 + 612.399

y = 453.3([%']
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